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6.10) (cont)) the sl vate wiThivd e clamp Transistors -

fith e damp transistors

125 M 125 M
Joias2 + 35 2004+ %

’-?4 =
S

ID’H = :é.bﬂ%/

= _ID3:30 I‘DH =19%¢ J(AA

_ 193 u A ./
= SR = MV MA _19.%
10pF AZ&

6 11) I%nonﬂg e Junc’u‘cn C(,xfacﬁancm , e Tetall crpautante
at e dnain of) @, cam be calludoted as -

(also tqhore 3 Scnece (€ (s S“husﬂ,é'/)
Cp2= Cdgz + Cigy+ Csqss = Cadoverlop) (et WytWs) + SHLG,

= 0-2 7/ (300+ 300 +60) + 2 x 60X 1.6 X 14FF = 254 £F

e N, NP

e fotald Conductane ot tia nede (s dontinaked \03
Gm = - Usﬁwua e pesudd ovg prablam  6.10, we hane -

L

we gecmd pole Chalf —Cirand conepdt ) -

{
s :‘V/—IDS MpCox (W/L) s =2 0.23F mr

o, = dns _ q.33% 10" radss
Cpz

N 7@ - E;; 1&%55 Mﬁz




6.1) (onh) Using (5.52) ,for a Fo phase margin ,we muat
haws - I;T -t A0 >Ff.,5u05MHz
pr A

Usiwé (6.30) - CL— I _ 'l\C\m/ = &5.59 pF
w.t R

*Ff‘vmﬂ% ) usmg (16.32) -

125 A \/
sr’. R4 _ = 22.3 V.
cr 5.59p L

Wit twe clamp transistors - se'= MM 35y Vs

612) This 1s epuivalend do a 40" phase MuAgin m the
origmal cleaifn - Using (5.52), we haue:

f‘f - T 50 = ,c’;:'mqg = 1363 Mie
Pz - T

é: ‘LQ{; = 212 MHZ

The  final mty_gdm fwﬂ&é ;@: La{; - 21aMkz

=0, = dm _ qyzpF
Oy

v 1 _ 1 _ Ipy v,
L, = = Rp= — =525 . SR= =2 _Y
z RCCL ¢ (A)ZQI_ S~ ’ CL ? AS
. N~

(/u‘rkwdamuﬁm se- M¥u _ yzq v

$
143 p /M
S NN~



L total K Teora e
= Ipe = —— 8= Ine = .= ot
DS = 7Sy 7 TP T T
2T T total T ol
Iy = D1 __ K to o K to

v

Vell; K+l Vel 1 7T K \/ell_{),-C.
! i g -

Assuming o Constant Iig 4 VQW , bo ng W

increase o1t inum&ﬁ K .

t

6.1,) The dc goun 18 %/ival by ,4V0= Imq Teud

m1

FA
here, approoumately = o =9, "flzs%

and 35“8: 2Tog » Ceg = bl s comatant !
Veﬁf‘ﬁ Ipg
=, oL
A
Ve(%?IDiS
- ﬂv _ a2adpy oLZLZ (ID1)(1 (>LZ|.‘_Z \
= )= = (=
Ve 1 Vel Tos Ios \/%()1 AT
NOtLinﬂ —TD%’: IDS O‘MA ID‘[ :KIDS r‘estdus M
2. 2
2 oL
H\/o = K( )

ol velpe

Ay, Ancrenses cofla K !
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